September 8, 2017

Mr. Phillip Francis Director of Operations Livonia Public Schools 15125 Farmington Road Livonia, MI 48154

RE:

Contract Award Recommendation for Security Bids

Garfield Community School

Dear Mr. Francis:

This letter transmits an update from Plante Moran Cresa (PMC) as it relates to the assignment to assist and advise Livonia Public Schools (LPS) in its selection of a Security Firm for the Project listed above. This update represents the mutual efforts of PMC and LPS administration and staff (the Bond Team) to present a framework in order to identify, evaluate and recommend Firms for this Project.

In the spring of 2014, an RFP was publically issued and after subsequent discussions and deliberations Security Designs was selected to be the Security Firm for the 2014 Projects. Security Designs has continued to be the sole provider of these services on bond projects to date. The Bond Team has been satisfied with their work and is recommending Security Designs be re-engaged for this Project. Attached is a proposal for Garfield Community School for the lump sum fee amount of \$12,037.00 plus \$2,500.00 in project contingency for a total project cost of \$14,537.00.

For the Security Firm, the costs for this work will be detailed in a Change Order to their original contract, pending final review and approval of terms by district legal counsel.

The Project Team is available at the Board's convenience to answer any questions regarding this process and/or the recommendations of the Bond Team. Please direct all questions through me via email.

Sincerely,

PLANTE MORAN CRESA

Scott Smith, LEED AP Senior Consultant

Enclosures:

Budget Summary

Proposal Letter Summary of Cost



SECURITY - BUDGET SUMMARY

	Security Costs						
Building	Budget		Actual	Variance			
Garfield Community School	\$ 12,500	\$	12,037	\$	463		
Totals	\$ 12,500	\$	12,037	\$	463		

	Security Contingency						
Building	Budget		Actual	Variance			
Garfield Community School	\$ 2,500	\$	2,500	\$	<u>-</u>		
Totals	\$ 2,500	\$	2,500	\$	•		

	Total Project Costs						
Building		Budget	Actual		Variance		
Garfield Community School	\$	15,000	\$	14,537	\$	463	
Totals	\$	15,000	\$	14,537	\$	463	

plante moran cresa



14700 Farmington Road, Suite 110 Livonia, MI 48154 (734) 421-0077 Fax: (734) 421-0099

August 24, 2017

Scott Smith Plante Moran 26300 Northwestern Hwy. Southfield, MI 48076

Dear Mr. Smith,

Thank you for allowing Security Designs Inc. the opportunity to present you with the following proposal for the security control equipment at Garfield School.

This proposal covers the work necessary to complete the general school upgrades to match what has been done in the past. We also have included all the work necessary for the GSRP office and the necessary modifications required for their use. This includes creating an alarm partition for their use. Relocating the Aiphone intercom and adding security sensors in their area. Should a question or concern arise with an application or installation, you can depend on a timely and knowledgeable response.

Again, thank you for this opportunity. If you have any questions regarding any of the information provided, please call my office at (734) 421-0077.

Sincerely,

Chris Lipinski



Livonia 2017 Garffeld School

Security Equip.

	Pric	ing	Quantit	tv			Labor		
Keypads	\$	177.00		2	Ś	354.00	4		
Motion sensors	\$	76.50		14		1,071.00	28		
Door contacts	\$	8.50			\$	170.00	20		
	•		Equip.		\$	1,595.00			
			•		•	•	Equip	\$	1,595.00
							52 Labor	\$	3,120.00
							Materials		571.00
							Tax	•	\$130
							Total	\$	5,416.00
								•	-,
Aiphone Intercom									
Door station	\$	545.00		1	\$	545.00	2		
Desk master	\$	329.00		2	\$	658.00	5		
Desk Stand	\$	33.25			\$	66.50	2		
Release relay	\$	115.00			\$	115.00	1		
Relocate Aiphone to GSRP d					•		4		
From main office									
			Equip.		\$	1,384.50	Equip	\$	1,385.00
					•	•	14 Labor	\$	840.00
							Materials		72.00
							Тах	Ś	87.00
							Total	Ś	2,384.00
								•	·
Access Equipment									
Card Reader	\$	175.00		3	\$	525.00	6		
Expansion card	\$	717.00		2	\$	1,434.00	1		
Dr release button	\$	72.00			\$	144.00	1		
Dr release receiver	\$	139.00		1	\$	139.00	2		
Ada interconnect	\$	300.00		2	\$	600.00	0		
Door strikes	\$	475.00		1	\$	475.00	1		
•					·				
			Equip.		\$	3,317.00	Equip	\$	3,317.00
							11 Labor	\$	660.00
							Materials	\$	58.00
							Tax		\$202.00
							Total	\$	4,237.00
Totals									-
Security Equip.		\$5,416.00	•						
Alphone Intercom		\$2,384.00							
Access Equipment		\$4,237.00							
, ,		-							
	\$	12,037.00	•						